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5-1-1-2

HA R KERX S5 AH IEEH TESREH REFEIGE R
BEE 13 13 13 12
1??%- /—.l./g 7 10 7 !
—H%E KBRGE 8 11 3 7
k= 9 21 9 8
(H19) BE P 7 14 7 5
Z D 11 22 11 11
&t 55 91 55 50
b 11 12 11 11
FRA=E 7 8 1 6
b1 £ REGE 9 9 9 8
RiE 10 11 10 9
(H20) B P 5 7 5 5
ZFDih 7 8 6 6
&t 49 55 48 45
BEE 9 11 9 9
FE=EE 6 5 6 6
=4 KIE 7 12 7 5
k= 11 15 11 11
(H21) BE P 0
ZDith 5 12 5 4
&t 38 55 38 35
HEE 8 16 8 8
FRA =T 5 7 5 5
PO EA & REGE 4 8 4 4
AiE 7 13 7 6
(H22) BE P 0
FDHh 4 9 4 4
&t 28 53 28 27
BEE 7 10 7 6
FE=EE 4 3 4 4
HERE PN 5 6 5 5
k= 8 9 8 7
(H23) BE P 0
Z it 8 11 8 8
&t 32 39 32 30
ﬁi‘k% 6 6 6 6
FRA =T 4 6 4 4
N A KBRGE 5 2 3 3
RN 8 3 6 4
(H24) Eilis] 1 3 1 1
Z Dt 6 7 5 5
&t 30 27 25 23
BEE 4 4 4 (3)
1??%- /—.l./g 6 3 3 (2)
tHE KBRGE 5 7 5 (5)
k= 9 5 5 (3)
(H25) BE P 3 3 3 3)
Z D 8 5 5 (5)
&t 35 27 25 (21)
BERE 8 7 7
FRA=E 4 3 3
J\E &% KBRGE 5 6 5
AiE 8 3 4
(H26) B P 3 1 1
Z Dt 15 7 6
&t 43 27 26
e 66 79 65 55
FE=EE 43 45 39 34
PN 48 61 46 37
& &t Sk 70 80 60 48
£l i} 19 28 17 14
Z D 64 81 50 43
I 310 374 277 231
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bessho-motoki
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ZHAKEN ERZEAREDIKR

HA A KERX S5 AH IEEH TEMREH REFRMEGEH
b 8 39 8 7
—p | BREAE 4 6 3 2
~ REGE 6 24 6 5
A3 6 8 6 4
(H20) Eslil 1 2 1 1
&t 25 79 24 19
BEE 8 13 7 6
— 4 RA=E 6 6 6 5
- PN 4 9 3 3
k= 6 9 6 5
(H21) il 1 2 1 1
&t 25 41 23 20
b 8 10 5 4
=% BB = 5 4 4 3
- REGE 5 14 4 1
RE: 6 7 6 5
(H22) Eslil 1 2 1 1
&t 25 37 20 14
B 8 9 6
0 #] R =L 5 6 4
mHE T X5e 5 7 5
2k 6 4 6
(H23) il 1 1 1
&t 25 27 22
b 8 3 3
# FRE=E 5 2 2
SREES REGE 5 6 4
b 6 0 0
(H24) Elg i 1 1
&t 25 12 10
B 8 2 2
L] FE=E 5 0 0
ae:e *f‘ﬁﬁ% s 0 5
2k 6 2 2
(H25) B3PS 1 1 1
&t 25 5 5
b 3 5 3
# FE= LT 3 5 3
tHE RGE 2 2 2
b 2 3 3
(H26) Elg 0 0 0
&t 10 15 11
B 4 5 3
# FREA =T 2 2 1
J\ER& xwf 5 3 5
2k 2 3 0
(H27) B3PS 0 0 0
&t 10 13 4
b 55 86 37 17
FRE=E 35 31 23 10
o = REGE 34 65 24 9
= A AiE 40 36 29 14
Eslil 6 11 6 3
&t 170 229 119 53




